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x‘Hz

\?ﬂz.

X

‘ ]1 <
I e - = | l*{-u J’!«_r,z,o o e 2qes
Cﬂ-«*avi'no:‘- Far alt %p:d\%‘“j ta/:’c <
Sary X > o = 4y 2 45%
(5 +1 & Qﬁ _ _2__
Ux e XV
“g Q (&%)
0 (BT, (Ga,, , | E .
: 2\[?* \ Z\T;“ a ?\J—;“'
ar 1
< X+ X
- S = Jx't‘j 12,2 B 150
{ x€ %
¢é.c’° ¥ -

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



@ 4 xZ @ (3Ix)

_-‘_——_—
L2 N

e\ 13_' S (3%)

2y, — L+ e (39)

O ol g (R )
27 *

§ .

Xy s X S (3Ix) ¢ 2x
AR R A
\

k)
§><H :S(\‘?{I. e
:L X —Mefl?«(%m
@ u}i {K?'-%-‘aq:
2 =03

AV = TXTAY = TSy Ay
d= zs0 - -9-§' v,

A & B & (zso—look})ﬂ(\g—-‘a )nYy
Sﬁw‘ TS (Zgo_[OO})(\gh\a '\& : *lO
A U{
My = §y b w G52y DS T I

M = WA
el R mol

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



AS - T{iuﬂ E)MCQQQ 57@\3\{.,\

Ao = ans IOK"HQEZ»\BL)A\Q

AW = AF £S-9) = Am 9 @S- 9)
= Ao w K=y ) Ay

,. o
W= 9 ¥ .10 & ST by = nr0®
s e
@ (_{"(:O XA %Lqu,,.)(lfrxwt\cl*"”\
|- % '

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



Lewy ==  wm [-1,0]

n, e ave(£)= | (by isspecho)
1 ==8 < ALk

| L
by, =\ Loy su(mlex) b gy || Bl
: ST L el
-1 : ‘.L \‘\ Tide {ﬁ )
: ) % e % d_ . S alT &
= l—- \__“—\}i Car (ﬁ'{’t ‘-"'3 ~ “L— R Gﬁ){tyj C Wl ¢
L T-i.'f/i JFL‘?_"{EZ L4
Ao
. 2= (ﬁt)k 2 -0
- Tide Tie
il L e
\G B A= _2__-_’_"6 5 Lz- N FTE‘ _ e o
\ 8 - e ;
\H'W_d_ 2 (= A 5, St (?rﬁ "{3
\JV“'“ x| ﬁ-”%gd“xﬂ I _\‘\
~+ - S =

e aﬁrmém,}l\'“h

. i
o @ Y oevees
. Lj]
# = =1, !
Rrocune ‘F s

Qﬂ,{ 5 c_ﬁ‘hj(\ﬂ. ke S
'{j..— "H/‘-G'ZE djﬂ ~+‘5

THE UNIVERSITY OF TEXAS AT SAN ANTONIO




dx
& = X‘ZYL b
)
Puly ) = }5\722}( te
2—‘}‘

y=Re™?

o T 3(0)4 . | = :
-~
f g™ z -
e D — 2

\
\a(ﬂ: ehz— :Q_Z@L

THE UNIVERSITY OF TEXAS AT SAN ANTONIO



